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1.1 PARMELAOAAZ7 74

| run 12 2856. -startpos beamenergy
| title
| Benergy(beamenergy)-Blength(bunchmm)mm

I
| drift 0.0 5. 1
| input 9 5000 10 0.05 100000 bunch 0.0

| drifts.201
|drife5.201 } #RYIRL

|

I

|

|

|

I

I

|

| |
| OUTPUT 5 |
| zout |
I I
| scheff 2.856 drscl dzsc1 7010010300 |
|start010st_elw10 |
| scheff 2.856 drsc2 dzsc27010010300 |
| continue 10 stepnum 1 0 |
| scheff 2.856 drsc3 dzsc37010010300 |
| continue 10 stepnum 1 0 |
| scheff 2.856 drsc4 dzsc4 7010010300 |
|

I

| continue 10 10000001 0
| end
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estartpos : /\JL R1ig/2 (cm)
sbeamenergy : 0.5, 1, 3, 6 (MeV)
sbunchmm : 3, 200 (mm)

sbunch : 5.1416, 342.83 (degree)
edrscl-4 : oxX7

edzscl-4 : 0zX%X10

estepnum : ElZEFFMEIZIG U TEAE

e
PARMELA version : 3.24
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2.1
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Pulse width: 3 mm, Energy: 0.5 MeV
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Envelope Eq.
- - - -Sim.

1

-
_/

0 0.2 0.4 0.6 0.8 1

Z position [m]

Pulse width: 3 mm, Energy: 6 MeV

Envelope Eq.

- = = =Sim.

__/

0 0.2 0.4 0.6 0.8

Z position [m]



2.1

= =
o ol

Beam radius R [mm)]
(O)]

Beam radius R [mm]
O P N wWw B~ O

E—LFZDHESRE 200mm

Pulse width: 200 mm, Energy: 0.5 MeV

Envelope Eq.
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Pulse width: 200 mm, Energy: 3 MeV
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2.2 NILATEDFEER 3mm
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2.2 N)LATEDFEER 200mm

Pulse width: 200 mm, Energy: 0.5 MeV Pulse width: 200 mm, Energy: 3 MeV
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Emittance [n
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